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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you answer the questions.

1.

10.

Answers are to be bubbled only on the separate carbonless Answer sheet provided
to you. After examination detach the carbonless copy from original Answer sheet
& keep carbonless copy with you till the declaration of result.

Please write your Center Code & Seat No. very clearly (only one digit in one
block) on question paper. Before writing your seat no. ascertain it with Hall ticket.
Please see that no block is left blank or unfilled.

Example :

CENTRECODE |1 |1 [0 2

SEAT NO. M3 (3912311102123

Please ensure that you have received Mental Ability Test answer sheet.
Total number of questions are 90 for this paper. All questions carry one mark each.
All questions are compulsory.

For each question there are four options given in question paper. Check for the
correct answer and bubble correct option from four circles given in answer sheet
by Black/Blue pen. Please do not write any answers on question paper.

Start answering from first question one after another till the last question.

If you do not know the answer of any question, do not spend much time on it and
pass on to the next one. If time permits, you can come back to the questions which
you have left in the first instance and try them again.

Utilize the allotted time for solving the questions in best possible way. The rough
work is to be done in the box given under each page.

Do not write anything except Center Code, Seat No. and rough work anywhere in
this booklet
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003 = 001 £
T SE B I AL S o el

W23, Y25 B28, ? ,K 37, Q43 00l
F32 (2) E 30 (1)
H 34 (4) G 33 (3)

S1,US8, ?,Y 64, A 125 002
V 16 (2) w27 (1)
X 27 (4) W25 (3)

NPR, TVX, ZBD, ? , KMO 003.
QSU (2) EGI (1)
FGH (4) MOQ (3)

006 < 004 -1

—élj‘;dﬁ/") Dl

SWB (2) BCA (1) 004.
G EK (4) KMQ (3)

HJLO (2) BDEF (1) 005.
WXYZ (4 OOPW (3)

LPU (2) CDE (1) 006.
ILO (4) FHJ (3)
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Q. 001 to 003 Directions: Which term will replace the question mark in the given series?

001. W23, Y25 B28, 2, K37 Q43

(1) E30 (2) F 32
G G33 (4) H34
002. S1, U8 ?,Y64, Al25
(1 W27 2) V16
3) W25 (4) X27
003. NPR, TVX, ZBD, ? , KMO
(1) EGI (2) QSU
(3) MOQ (4) FGH
Q. 004 to 006 Directions: Find the odd term.
004. (1) BCA (2) SWB
3) KMQ (4) GEK
005s. (1) BDEF (2) HILO
3) OOPW 4 WXYZ
006. (1) CDE (2) LPU
(3) FHIJ 4 1LO
Space for Rough Work
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Q. 007 to 009 Directions: In each of the following questions the question figure changes in a definite
way. Find out the correct figure from the alternative figures that replaces the question

007.

008.

mark.

Question Figures

10

L1

10}

10

Answer Figures

[6] ]6] ]@[ [6[

Question Figures

X

Answer Figures

X

X ] -
4 ] -

(1)

2)

~
w
~

4)

Space for Rough Work
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SN N A SN
13:2196 :: 21:?7 010.
9167 (2) 9043 (1)
9913 (4) 9260 (3)
156 : 13 :: 132:? 011.
12 (2) 10 (1)
8 (4) 9 (3)
3:39 ::9:?7 012
819 (2) 719 (1)
517 (4) 919 (3)
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009. Question Figures

Answer Figures

SIS IS

() ) 3) (4)

Q. 010 to 012 Directions: In the following questions there is a specific relationship between the first
and the second number. The same relationship exists between the third and the fourth
term. Finding the relationship, select the correct number from the alternatives given.

010. 13:2196 :: 21:?
(1) 9043 2) 9167
3) 9260 (4) 9913

011. 156:13 :: 132:?
3 9 4 8

012. 3:39 ::9:?

() 719 (2) 819
3) 919 4) 517
Space for Rough Work
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016 < 013 ~Ji»

—"&%Jjﬁf“:’ Pegle
584 (2) 819 (1) 013.
719 (4) 084 (3)
6642 (2) 3817 (1) 014.
3817 (4) 4493 (3)
730 (2) 962 (1) 015.
362 (4) 528 (3)
4453 (2) 5823 (1) o016.
3584 (4) 2465 (3)

019 < 017 ~£J1»
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Q. 013 to 016 Directions: Find the odd term.

013. (D
3)
014. (1
3)
015. (1)
3)
016. ()
3)
Q. 017 to 019

819 (2) 584
084 “4) 719
3817 (2) 6642
4493 4) 3817
962 (2) 730
528 4) 362
5823 (2) 4453
2465 (4) 3584

Directions: In each of the following questions there is a specific relationship between
the first and second figure. The same relationship exists between the third and fourth
figure which will replace the question mark. Select the correct option from the given
alternatives.

017. Question Figures

0 O} *

Answer Figures

O

(1 ) 3) 4

Space for Rough Work

NMMS-MAT-22-23 | VIII | M2 |

TSRS TS A AR A A A AR A
S0 302 4 S T T S T S0
e 0% 3% 8% 3% 3% 2% ¥ a¥e 3vs!



gl\ ' --DI@--DI@--DI@--DiI@--DI@-- D1

€0 018,

D[ Ora) -

:qu:,z
N
Qnene
) (2) 3) 4
o€ 019,
& B o
- Jesidiz

2 gl [e 3|[& €
o XBle B o
(2) (3)

% @ |8 o

|2 ©

LlbL L6

NMMS-MAT-22-23 | VIII | M2 |




018.

019.

Question Figures

Answer Figures

7N
N

@

ey

Question Figures

) 3)

& ©
&

i
2

Answer Figures

©

§ B
(1)

L
©
&
&
(
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91 (27) 37 020.
21 (32) 85
79 (?7) 41
21 (2) 14 (1)
43 (4) 19 (3)

23 (37) 51 021.
65 (46) 27
29 (?) 53

59 (2) 41 (1)

71 (4) 63 (3)

024 < 022 )1

— g s et S ket el
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(M 2) 3) “4)

vl vl visive
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Q. 020 and 021 Directions: In the following questions the numbers outside the bracket are related to
number inside the bracket in a specific manner. From the given alternatives find the

020.

021.

91
21
79
(1)
€)

23
65
29
(D
&)

right number which matches and will replace the question mark.

(27)
(32)
(7)
14
19

(37)
(46)
(?7)
41
63

37
85
41

51
27
53

)
4

)
4

Q. 022 to 024 Directions: Find the odd figure.

21
43

59
71

022. ' =) @ . J ' -
X X X x ¢
‘ C: l = b «
(1) () 3) Q)]
023.
2 . 20 . 2
- O Ol — O O
(1) (2) (3) (4)
Space for Rough Work
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o] o o (o] [o] o o] o
(1) (2) (3) (4)
153, HARSHU & &:3-c tb W0 U1 HDILNK 59, MANISH' (2ol QUi 025,
sC 2L Ao
CDNPGX (2) MDMPMX (1)
CDMPCX (4) BDMPCX (3)
ui‘uu@utiiu‘!{_lz? _‘thguﬂc/’w DLWMRD 5# . 'WINDOW' uﬁug/’[}utﬁ!ﬁ 026.
L U=, 5 'SERIAL 5
HVIRZO (2) PZQIVH (1)
OZRIVH (4) OZRIVH (3)

LAV . ASHRAF Ut 14t 7 tb W0 48 53 'ARVIND Soudves” 0.

oL

38 (2) 15 (1)
53 (4) 47 (3)

029 .51 028 1
..%de)l}‘&Qiﬁéaﬂ’fﬁé{/;!éwwgf'fd,é Dl
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024.

025.

026.

027.

In a certain code language the word MANISH is written as HDILNK. How will you write the

word HARSHU in the same code language?
(1) MDMPMX (2) CDNPGX

(3) BDMPCX (4) CDMPCX

In a certain code language the word WINDOW is written as DLWMRD. How will you write
the word SERIAL in the same code language?
(1) PZQJVH (2) HVIRZO

(3) OZRIVH (4) OZRJVH

In a certain code language the word ARVIND is written as 48. How will you write the word
ASHRAF in the same code language?

(1) 15 (2) 38

3) 47 4) 53

Q. 028 and 029 Directions: Observe the following figure and choose the correct alternative to answer

the questions.

Space for Rough Work
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_e etz t P 028,
11 (2) 14 (1)
13 (4) 12 (3)

_e bl SBnnar i 029,
(2) 8 (1)
(4) 7 (3)

N O

032 = 030 ~J1»
- U Ui & m;/:"J%a s e ylf;vr_ JE;/» Kﬂ% Sl LT "
b GBI s P

MUI: LTH :: DEI:? 030.

IHD (2) CDG (1)

BCH (4) CDH (3)
DAM : AXJ :: NUR:? 031.

QSO (2) KRO (1)

QXU (4) JRP (3)
DRAC : JXGI :: TSOP :? 032.

ZYUV (2) ZUVY (1)

XYUZ (4) ZYVU (3)

034 131 033~y
_ef}”’fc}gbﬁuﬁ&’d)ﬁiif Pl

5, 27, 61, 122, 213, 340, 509 033.

27 (2) 5 ()
213 (4) 122 (3)
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028.

029.

What is the number of triangles in the figure?

(1 14 2)
3 12 4

What is the number of trapeziums in the figure?
H 8 )
3 7 4

11
13

Q. 030 to 032 Directions: In the following questions there is a specific relationship between the first
and second term. The same relationship exists between the third and the fourth term.

030.

031.

032.

Finding the relationship select the correct term from the alternatives given.

MUI:LTH :: DEI:?
(1) CDG (2)
3) CDH 4)

DAM : AXJ :: NUR:?
(1) KRO (2)
3) JRP 4)

DRAC : JXGI :: TSOP:?
(1) ZUVY (2)
(3) ZYVU 4)

IHD
BCH

QSO
QXU

ZYUV
XYUZ

Q. 033 and 034 Directions: In the following number series, one term in each example is different
from the others. Find the odd term from the given alternatives.

033. 5,27,61, 122,213, 340, 509
(I 5 2) 27
() 122 4 213
Space for Rough Work

NMMS-MAT-22-23 | VIII | M2 |

TSRS TS A AR A A A AR A
S0 302 4 S T T S T S0
e 0% 3% 8% 3% 3% 2% ¥ a¥e 3vs!



10, 14, 28, 32, 64, 68, 132 034.

14 (4) 32 (3) 64 (2) 132 (1)

036 1 035 )1y

_4;3);@3éi;;{ulﬁ%’rﬁ/;llb‘Kuiﬁ'u”-c‘“_ufﬁ‘u’/guguﬁ;wldi &/uﬁaﬂf}/djgﬂ Dl
198 | 108 | 59 | 035.
2 | =5 | 169

199 | 185 | 194
176 (4) 163 (3) 144 (2) 132 (1)

31 | 140 | 39 | 036.

23 | 2 | 37
18 120 42
140 (4) 120 (3) 100 (2) 80 (1)

039 < 037 1
Z et f35tm - CWEIUF S 13 il s LGt I sonr © el

“Fe el
d/lé:/ V}[, 3 . .
(Kachorti) v I (Samosa)
‘5'%% — 5714
(Pav bhaji) (Batata wada)
S Wrbe S TUTL 0 SRl A 03,
K (4) D (3) A (2) T (1)
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034. 10, 14,28,32, 64,68, 132
(1) 132 (2) o4 3) 32 4) 14

Q. 035 and 036 Directions: In the following questions, numbers are written with a specific rule.
According to that rule find out the alternative that will replace the question mark.

035. | 198 | 108 | 59

7 | =5 | 169
199 | 185 | 194
(1) 132 2) 144 (3) 163 @) 176

036. 31 | 140 | 39
23 | 7 | 37
18 | 120 | 42
(1) 80 2) 100 (3) 120 4) 140

Q. 037 to 039 Directions: The letters in the following Venn diagram indicate the different eatables that
the children like. Answer the following questions by selecting the correct alternatives.

Kachori
Samosa

N 4«— Batata Vada
Pav Bhaji —

037. Which letter indicates the children who like all types of eatables?
(T 2 A 3) D “4) K

Space for Rough Work
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e Wb ST S 10 3L St 038,
N (2) D (D
T (4) E (3)

‘e U] b 2O TL 18 el 039
R (2) Y (1)
I 4 vV @3)

042 = 040 ~J1»
SISt S ie S b st S T Lo L6 S i Lo © el

_”d;c’ugé
DM, PA, EL  040.
KF (2) ME (1)
OD (4) HK (3)
ORU, TWZ, HKN  041.
GIN (2) CEH (1)
MPR (4) NQT (3)
FTH, JPL, DVF  042.
CWE (2) GED (1)
NML (4) TEV (3)

045 < 043 £ J1s
_ﬁgag'ﬁqVLaU’VLZiTL/G#L’%Ku' IS S AT S5 - el

1
2

1
5

1
4

] G L
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038.

039.

Which letter is used for the children who like all types of eatables except ‘Pav Bhaji’?
() D (2) N
3 E @ T

Which letter is used for the children who like only ‘Kachori’?
(1 Y 2) R
3 Vv 4 1

Q. 040 to 042 Directions: In each of the following questions find out the term that matches the given

040.

041.

042.

group.
DM, PA, EL
(1) ME (2) KF
(3) HK (4) OD

ORU, TWZ, HKN

(1) CEH (2) GIN
(3)  NQT (4) MPR
FTH, JPL, DVF

(1) GED (2) CWE
(3) TFV (4) NML

Q. 043 to 045 Directions: Different positions of a cube are given below. Observe the figures and

answer the following questions.

1

3| 4| 2

Space for Rough Work
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W Toaib ol OIS | it 043,

4 (2) 2 (1)

5 (4 6 (3)
BT oAl 4 Fe S 044,

3 (2) 5 (1)

1 (4) 2 (3)
0TSl e it 5 ot e ST 045,

3 (2 4 (1)

1 (4) 2 (3)
(uf’fg) Wulesy” UL 2024 dV’%Q?ﬁU}éﬂ?lﬂ%fgﬁKd}‘l}:'wlg{dﬂuﬁ 2022 Ju-  046.

?KL'@}JK

vk (2) sz (1)

4 £ i)
-4’;J}g§,.w;zié_ndﬂﬁﬂ 047.

: f,:}ly : J@l@lg
(D (2) 3) 4)
050 < 048 ~J1v

ce bt BobU L A ce bt AL A Lt e fUF A E, D, C, B, At el
_“ﬁgag’ﬁigwrd}g/ﬂlca% Fob LWL E et E&LLB
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043.

044.

045.

046.

047.

Which number will be seen on the face opposite to 1?
1 2 2) 4
3 6 @ 5

Which number will not be on the face adjacent to 4?
(1 3 2) 3
3 2 “ 1

Number 5 will not be adjacent to which of the following number?
I 4 2) 3
3 2 4 1

Birth Anniversary of Lal Bahadur Shastri was on Sunday in the year 2022. On which day
Constitution Day will fall in the year 2024?

(1)  Monday (2) Wednesday
(3)  Tuesday (4) Saturday

Directions: An incomplete figure is given in the question figure. Select the correct alternative
to complete the figure.

Question figure Answer figures

) W Q)| W)@
2

(D ) 3) 4)

Q. 048 to 050 Directions: A, B, C, D, E, and F are travelling by Railway. A is having window-seat. B

is sitting to the right side of A. E is sitting opposite to B. F is sitting to the left side of
E. Answer the following questions.

Space for Rough Work
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et A o LS 048,

D (2) E (1)
F (4) C (3
VL A e bl gt LIt C ol D LA LIS LUt AT E sl A 049,
??nu/./lg
C (2) B (1)
F (4) D (3)
bt I S S Sail Sus® 050,
AAsC (2 EsC (1)
EsD (4) CHF (3)

054 = 051 7 J1»
LT g S Qi e Wl U b 3, SARTHI Uf 0l QUL {1 : ol
_E bt £E SIS = U L = Ui

5 AL
SARTHI = (1) YFVWJI
(2) UDTWJL
(3)  SRHITA
4) HEIXGM

MENTAL = NIMXZP 051.
SCHEME = SHMEEC 052.
MEDIUM = SJHLWN  053.
ABILITY = CEKOKWA 054.
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048.

049.

050.

Except A, who is having window-seat?
() E 2 D
3 C (4) F

If A and E interchange their place and similarly D and C interchange their place, then who will
be to the left side of A?

() B 2 C
3 D (4) F

After interchanging the places, who is sitting at window-seat?
(1) CandE (2) CandA
(3) FandC (4) DandE

Q. 051 to 054 Directions: In a certain code language the word SARTHI is written in four different

code languages. Understanding the code, find out the correct code language for the
word given in each of the following questions.

Word Code Language
SARTHI = (1) YFVWIJ

(2) UDTWIJL
(3) SRHITA
(4) HEIXGM
051. MENTAL = NIMXZP
052. SCHEME = SHMEEC
053. MEDIUM = SJHLWN
054. ABILITY = CEKOKWA
Space for Rough Work
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057 < 055 ZJ1»
-ﬂﬁfd;y?u,;m_ﬁfqvuﬁuﬁd&ﬁéyWK_,;/“J»,JL"JWMU}/ Pl

pm—op—-mm—-ppm-—o 055.
ppom (2) pmom (1)
mpom (4) mopm (3)

de—ff-edf-ded—-f 056.

ddff (2) dfdf (1)
ddfd (4) dffd (3)
~001-10-111-011 057.
1100 (2) 1110 (1)
1001 (4) 1101 (3)

060 « 058 ~JI»
_é_agmé U3 onnnl S i €U b J“Lu:fu.,,»hg/jr/fénwé Lecly

E
F D
A B
C -
LT 7 oddee A" 058,
F (2) E (D
D 4) B (3)
LT e L 'C' s 059,
A (2) F (1)
E (4) D (3)
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Q. 055 to 057 Directions: A rhythmic arrangement of alphabet and number is given. The missing
letter or number appear in the same order as in one of the alternatives given. Select the

05S.

056.

057.

correct alternative.

pm—op-—-mm-ppm-—o
(1) pmom )
(3) mopm 4

de—-ff-edf-ded-f
(1) dfdf ()
(3) dffd 4)

-001-10-111-011
(1) 1110 (2)
3) 1101 4)

ppom

mpom

ddff
ddfd

1100
1001

Q. 058 to 060 Directions: The following figure is folded to form a cube. Observe the figure and
answer the questions by choosing the correct alternative.

E
F D
A | B
C
058. Which letter will not be adjacent to the face of A?
(1 E (2) F
G B (4)
059. Which letter will be on the opposite face of C?
(1) F 2 A
3 D 4) E
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(1) 2) (3) 4)
063 < 061 ZJlv
,yKL,?/;‘J;'u:uﬁu’?t/;éra _‘ay’ﬁ,f}'mgwu;ju! sy sl 5 ol E L P
G E TS oonIEGI syl €1 s LASIVES LS Sy sl 1 B
FUEEE Uit S AL Uil bl S f o ditor™ L

R T SRy IR SRy IO R PY N
S S oI S 06l

&Lo(2) g1 (1)
2y (4) = (3)

e Y bondilt i by 062
3 (2) 4 (1)
S (4 2 03

?‘¢L[J’kw;d;lu:u“’gwldzﬁa’,u}gw( 063.

el e (2) 2l by (1)
g1 Bl (4) sy I TL(3)
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060.

Which of the following figures belong to the given cube?

o> o>y ey >
PHHE

(D 2)

Q. 061 to 063 Directions: The result of the exam for which Raj, Sangeeta, Alka, Vaibhav and Prasad
has appeared is declared. All the students passed in Marathi with first class. Raj, Alka

and Prasad got first class in Mathematics whereas Vaibhav, Alka and Prasad got first
class in History. Two boys who got first class in Mathematics also got first class in
English. Sangeeta has passed in Science and English. Considering this answer the

following questions.

061. Who did not secure First class in Science?
(1) Alka (2) Raj
(3)  Sangeeta (4) Vaibhav
062. Inhow many subjects Prasad secured First class?
(H 4 2 3
3 2 4 5
063. Who have secured First class in English and Mathematics?
(1)  Prasad and Vaibhav (2) Sangeeta and Raj
(3)  Rajand Prasad (4) RajandAlka
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066 < 064 71>
-9%&;0}/@”@@3@;&:«0)?&;44_) -9&@»}/@’%@%'&'&:«%’5&/7 Pegle

_ﬁgdjgz..,/l?u
120, 80, 24 064.
63 (2) 99 (1)
38 (4) 48 (3)
73, 13, 71 065.
89 (2) 43 (1)
97 (4) 83 (3)

120, 210, 24 066.
68 (2) 130 (1)
52 (4) 60 (3)

068 5! 067 ~Jiv
b s QULas L Ak 1 TS e 1L 6 B AP L e Ve p L - el

A L Jediz 067.
E | oOo L] oo ||oOo
. JOOOLJIOOOLIO O || OO0
| Loldo [] oo |loDOo
S G ) 3) (4)
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Q. 064 to 066 Directions: In each of the following questions find out the term that matches the given

group.

064. 120, 80,24
(1 99
3) 48

065. 73,13,71
(1) 43
(3) 83

066. 120,210, 24
(1) 130
(3) 60

)
(4)

2)
4

)
4

63
38

&9
97

68
52

Q. 067 and 068 Directions: A square piece of paper is folded and cut at specific spots as shown in the

figure. The paper when unfolded will look-like as shown in one of the alternatives.
Select the correct alternative.

067. Question figure

Answer figures

L

1

[
OO
[

ollo
O O
oo

ol]lo
ouo
o[l]o

(2)

(3)

(4)
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A L ez 068.
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(3) 4)
071 < 069 ~Jls
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S FE e el v
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RAY 423
SOME 6789
SPRE 1286
WAP 315
MAS 673
YES =?  069.
326 (2) 289 (1)
486 (4) 476 (3)
PARAM =7 070.
13273 (2) 13723 (1)
13732 (4) 13237 (3)
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068. Question figure

[

i 00O
l &Sao
_Bles

(1)

Answer figures

o0
100
0O

2)

oo
oo
olufe

€)

&
000

&

(4)

Q. 069 to 071 Directions: In the given questions there is a relation between column I and column II in

a code language. By using the code language answer the following questions.

Column I Column I1I
RAY 423
SOME 6789
SPRE 1286
WAP 315
MAS 673
069. YES=?
(1) 289 (2) 326
3) 476 (4) 486
070. PARAM=7?
(1) 13723 (2) 13273
(3) 13237 (4) 13732
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PRAYER = ? 071.

123482 (2) 123462 (1)

123583 (4) 123782 (3)

073 11 072 41>
L}éwkf{i}"g{ﬁKJL‘QQ%LUL/J]&KVC/.QL&/ZL%Jﬁ.}'ﬂénd){, Degle

_“ég?cd.fd)lﬁu?g
A s Jeidiz 072.
7
|
|
L - —
(1) (2) 3) “4)
: f,:jlf : Jﬁl‘}lﬁ 073.
””””””””””””” (1) @) 3) (4)

075 51 074 )1y
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071. PRAYER=?
(1) 123462 (2) 123482

(3) 123782 (4) 123583

Q. 072 and 073 Directions: The folded figure of square paper is shown in the question paper. If it is

unfolded what will it look like? Select the correct alternative.

072. Question figure Answer figures
7
|
|
L - —
(1) (2) 3) 4)
073. Question figure Answer figures
(1) (2) 3) 4)

Q. 074 and 075 Directions: Choose the correct mirror image of the question figure from the alternatives

given below.
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A L Jediz 074.
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D | © 0 C >
(1) “)
WA s Jeidiz 075.

4

N

N

N

N

AANECANNIZANICANT IS

e bl E 2 Ao A e 2E 3 S el & eE s e SG Uy 076,

3

?gnu:o/du:(wc(@m
J- - Jé 37 - (1)
& - Jé @) - =% (3)

079 = 077 )1
L Toel A e S E I U f s osir & el
34,23, 14,7.2.7 0T7.

3 (2 1 (1)
0 (4 -1 (3)
2,3, 10, 29, 66, 2 078.
64 (2) 127 (1)
125 (4) 79 (3)
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074.

075.

076.

Question figure Answer figures

S < o o o
D | © O ¢ >

() @) (3) @)

Question figure Answer figures

AR aINainNalN
AN IICANNECANIIDAN

Ramdas walks 5 km. to East. Then he turns right and walks 3 km. Then he turns right and walks
2 km. Now he is to which direction with respect to the place from where he started.

(1)  South - West (2) North - West
(3)  South - East (4) North - East

Q. 077 to 079 Directions: Which number will replace the question mark in the given series?

077. 34,23,14,7,2,?
H 1 )
@ -1 4 0
078. 2,3,10,29,66,?
( 127 (2) 64
@ 7 4) 125
Space for Rough Work
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95, 116, 139, 163, ? 079.
256 (4) 220 (3) 191 (2) 196 (1)

oL f S pety b S o 21 080,
JFae (@ PG e A

083 < 081 ZJlv
e EUE R I SU e T Aot ek o U b P 361 4 x 4 5 42 iy
.puzé.;wyds,;w?ugg(:”’“u:u,iu?»(idjg&w Lx 1 x 1S und

N
I ] -
\\/ //
\\/ //
LT L7
7
Sr AL LIS 081,
8 (4) 6 (3) 2 (2) 4 (1)
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079.

080.

95,116, 139, 163, ?
(1) 196 2) 191 (3) 220 4) 256

If South - East is called as North and North - East is called as West. Then how will you call
West?

(1)  North - East (2) South - East (3) North-West (4) South - West

Q. 081 to 083 Directions: A solid cube of size 4 x 4 x 4 is painted in such a way that its opposite sides

have same colour. Opposite sides are painted in Blue, Red and Yellow colour. Then the
cube is cut into small cubes of size 1 x 1 x 1. Answer the following questions.

AN

NN

N

7
7
7

NN

N
N
N
N
N

NANANAN

L

081. How many cubes are there having no face Red?
(1 4 2 2 (3) 6 “4) 38
082. How many cubes are there having both the colours Yellow and Blue?
(1) 4 2 8 3) 16 4 24
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AT il Folienls 083,

64 (4) 56 (3) 48 (2) 24 (1)
085 s/ 084 ~J1s
-’df@}@nguwg’r/ugéo,-+uiWf'ﬁguﬁm&f i God + el

084.
5 )3 8 6 12 4 9 9 3
7 5 10
54 (4) 32 (3) 27 (2) 18 (1)
; 0 . 085.
8 5 9
48 (4) 30 (3) 24 (2) 18 (1)

087 31 086 1
el d ISt AS TR E I TS ey
L Jesdiz 086.

(1) 2 3) 4)

LlbL L6

NMMS-MAT-22-23 | VIII | M2 |




083. How many cubes are there whose at the most three faces are painted?

(1 24 )

48 3) 56 4)

64

Q. 084 and 085 Directions: Identify the same rule between the arrangement of numbers in the
following figures and choose the correct option to replace the question mark.

084.
5/, \8 6/ ,\4 9 9 3
7 5 10
(1 18 2) 27 (3) 32 (4)
085. 7 9 6
4 32 7 8 3
8 5 9
(1 18 (2) 24 (3) 30 (4)

54

48

Q. 086 and 087 Directions: In each of the following questions one question figure is given how will

the reflection of the given figure will look like if it is held vertically on the water
surface. Select the correct alternative.

086. Question figure

Answer figures

] O O
O O
O~ 0
) 3)
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087.

4)
090 < 088 1>

_prd Lelnl Ui s skl a7e nds T el

C b
d e f
] i h g
k 1 m n 0
u t S r q p
\ W X y z a b
] i h g f e d C
k 1 m n 0 p q r S
nmli : mnog :: pong:? 088.
opge (4) twxy (3) rqpo  (2) opar (1)
aef:cih ::? :yop 089.
agr (4) rfe (3) hts (2) xnm (1)
uktwx, cabef, rnqza, ? 090.
ilmsr (4) fzepq (3) snryz  (2) hxgyf (1)
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087. Question figure Answer figures

(1) ) 3) 4)

Q. 088 to 090 Directions: Observe the pyramid of alphabet and answer the questions that follow by
choosing the correct alternative.

c b
d e f
] 1 h g
k | m n 0
u t S r q p
v w X y z a b
J ! h g f e d c
k ! m n Y p q r S
088. nmli: mnog :: pong:?
(1) opqr (2) rqpo (3) twxy (4) opge
089. aef:cih ::? :yop
(1)  xnm (2) hts (3) rfe 4) aqr
090. uktwx, cabef, rnqza, ?
(D) hxgyf (2) snryz (3)  frepq (4) ilmsr
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